SnoBlox-Snolax.com 1405 Brandton Rd Mechanicsburg, PA 17055 Ph: 717-697-1900 F: 717-697-2452

VentSaver FB-151 Installation Method
Mount VentSaver FB-151 in 3 Easy Steps: Recommended Tools: Cordless drill with 5/16" driver, tin snips, two 7/16" wrenches, caulk gun

Stainless pipe strap
U™ x 3047 5.5, bolis
Step 1: (” e s _ ' Step 3:
N Fol 1447 x 1-172" Lag Screws
b e . .
r needng £ . with Mastic tape or 100%
@ Fin silicone at base -
Snowlog
e »
\ = back-up
- =%
Step It Roof jack \"l 1 > = =
Vent Pipe Steel ! 1 N _—
i roofing 1 - 2% 107 wood block between rafter
\Seainless pioe stra -— and 2 through bolts recommended
3 55 pipe PE__ ) Snow | lce in heavy snow anea
Fin) * - = ‘7“3 * back-up L \Roof sheathing - $/8" CDX prefermed deck
se angle-
Top View Vent Pipe Side View
1. Attach FIN to BASE 2. Base Installation: Put sealant on bottom of base angle. Place 3. Strap Installation: Put 1/4" X 3/4" bolt through the bent end
ANGLE Ventsaver centered behind pipe and fasten base to roof with the of the strap. Install as illustrated in TOP VIEW. Cut off excess
Assemble with two 1/4" four 1 1/2" lag screws. strap. For vent pipes cut pipe off 2" to 3" above the Ventsaver.

X 3/4"S.S. bolts.
NOTE: In case of rib
obstruction, base angle
is reversible.

Check all fasteners for tightness!

VentSaver P-383 Installation Method
Mount VentSaver P-383 in 3 Easy Steps: Recommended Tools: Cordless drill with 5/16" driver, tin snips, two 7/16" wrenches, caulk gun

Step 1 Step 3¢
. #14 x 1-1/2" Lag Screws
cz_":ﬁ7 with Mastic tape or 100%
- ¥ silicone at base
Two L4 %347 55Bols  BaseAngle 5
A%
Step 2 _
Cable End Roof Jack
"
27107 wood block between rafber
fmd 2 through balts recommended Stee]
in heavy snow nren . H.n-nlin;
Rool sheathing=3M" COX rm:lfl.'nud deck
Top View Side View
1. Attach FIN to BASE 2. Base Installation: Put sealant on bottom of base angle. Place 3. Pull on cable end with pliers until snug. Keep shoulder strap
ANGLE cable over chimney or vent with Ventsaver centered behind and on the opposite side of teh pipe from the Ventsaver. Tighten
Assemble with two 1/4" close to pipe. Fasten base to roof with the four 1 1/2" lag nut and bolt firmly. Trim Excess cable.
X 3/4"S.S. bolts. screws. Note: For smaller applications, cut and remove stainless steel

NOTE: In case of rib Note: If unable to fit the cable over the top of the pipe, detach  shoulder strap attached to cable.
obstruction, base angle the cable eye by removing the nut. Wrap the cable around the
is reversible. pipe and reassemble tightly.

Check all fasteners for tightness!

Warranty: The following warranty is made in lieu of all other warranties expressed or implied. Recommendations for proper use of the product are based on tests believed
to be reliable. Any goods proven to be defective due to materials will be replaced, or purchase price refunded, but in no event shall the manufacturer be responsible for
damages in excess of the purchase price. User shall determine the suitability of the product for its intended use and assumes all risks of its use or handling.

SnoBlox-Snolax.com 1405 Brandton Rd Mechanicsburg, PA 17055 Ph: 717-697-1900 F: 717-697-2452



	VentSaver FB-151 Installation Method
	Mount VentSaver FB-151 in 3 Easy Steps: Recommended Tools: Cordless drill with 5/16" driver, tin snips, two 7/16" wrenches, caulk gun

	VentSaver P-383 Installation Method
	Mount VentSaver P-383 in 3 Easy Steps: Recommended Tools: Cordless drill with 5/16" driver, tin snips, two 7/16" wrenches, caulk gun




